Algebra 2 Honors Final Review Name @m AOIb -1
Trigonometry Hour,__ A4/

Write a formula for the measures of all angles coterminal with the given angle. Then use the formula to
find two angles, one positive and one negative, that are coterminal with the given angle.
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Express in either “Decimal Degrees” or in “Degrees Minutes Seconds” to the nearest second.
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Find a first-quadrant angle 6, for which an angle five times as large as 0 will be in the given quadrant.
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Draw a picture for each! Round all answers to the nearest thousandth.

14. An airplane is at an elevation of 45,000 ft when it begins its approach to an airport. Its angle of
descent is 3°. What is the approximate air distance between the plane and the airport?
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15. A window washer 50 ft above the ground sees a parked car 153 ft away. What is the angle of
depression from the man to the car? so
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16. Find the measures of the angles of an isosceles triangle whose sides are 5, 10, and 10.
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17. Two farmers stand on the same side of a silo 10 feet apart. The angles of elevation to the top

of the silo are 25° and 30° respectively. How far is each farmer from the silo? How high is the silo?
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18. While traveling across flat land, you notice a mountain directly in front of you. The angle of elevation

to the peak is 7°. After you drive 10 miles closer to the mountain, the angle of elevation
is 18°. Approximate the height of the mountain.
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Convert from Radians to Degrees, or Degrees to Radians
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From the information given, find the quadrant in which 0 lies.

23. sin@ >0 and tan <0 24, cscf >0 and sec <0

Find the exact value of the function without a calculator.
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31. Find the value of all six trig functions at each quadrantal angle. i ‘—I A
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Express as the function of an acute angle. co
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34. Find the cot® ifsin8 =% and cos@ < 0.
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Are the following points on the unit circle? Show your work.

35. Find cosx = —~§ when — 7 < x <0.
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Solve the following triangles. ¢ 12
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44. Two snowmobilers start from the same point and drive at 8 km/h and 13 km/h, respectively, diverging at
an angle of 100°. Three hours after leaving, they find that their radio transmissions are barely audible.
How far apart are they at that time? Round to the nearest thousandth.
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45, Atriangle has sides of lengths 7, 12 and 10. Find the measure of the smallest angle to the nearest
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46. Jan is flying a plane on a triangular course at 450 mi/h. She flies due east for four hours and then turns
right through a 50° angle. How long after turning will she be exactly southeast of where she started?
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47. Find the length of an arc that subtends 48. Find the area of a sector with central angle
a central angle of 45° in a circle with 60° in a circle with radius 3 mi.
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49. A woman is riding a bicycle whose wheels are 28 i |n |n d!ameter If the wheels rotate at 1{7revolut:ons
per minute (rpm), find the speed at WhICh she is travelmg in mi/h.
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50. A boy rotates a stone in a 3 ft. long sling at the rate of 15 revolutions every 10 seconds.
Find the linear and angular velocities of the stone.
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Determine whether each function is even, odd, or neither.

1. f() =2 +x 52. f(x) = x%+ 3x 53. f(x) = x8 54. f(x) =x7
La () * (0 + 30 ol i 5y’
- x 2.__3 R =, X v = x-’

Unerther) ) (dd)

State the amplitude, period, vertical shift and phase shift. Then graph the following:
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Use the sum and difference formulas to find the exact value. - %
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Find sin2x, cos 2x, and tan 2x from the given information.
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Use the half-angle formulas to find the exact value. fi B - =
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Solve for a,0° < a < 360°. Solve forx,0 < a < 2m. Round your answer to the nearest thousandith.
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Find the formulas giving the g olution for each g.'ven 0<x<2mand0 <a<360". Your
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Find all solutions of the equation in the interval [0, 21).
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